BARINGTON COMPANIES EQUITY PARTNERS L P Form SC 13D/A December 28, 2005

> UNITED STATES SECURITIES AND EXCHANGE COMMISSION Washington, D.C. 20549

> > SCHEDULE 13D (Rule 13d-101) Amendment No. 1

INFORMATION TO BE INCLUDED IN STATEMENTS FILED PURSUANT TO RULE 13d-1(a) AND AMENDMENTS THERETO FILED PURSUANT TO RULE 13d-2(a)

Torch Energy Royalty Trust

(Name of Issuer)

Units of Beneficial Interest

(Title of Class of Securities)

891013104

(CUSIP Number)

Mr. James A. Mitarotonda c/o Barington Companies Equity Partners, L.P. 888 Seventh Avenue, 17th Floor New York, NY 10019 (212) 974-5700

(Name, Address and Telephone Number of Person Authorized to Receive Notices and Communications)

December 23, 2005

(Date of Event which Requires Filing of this Statement)

If the filing person has previously filed a statement on Schedule 13G to report the acquisition which is the subject of this Schedule 13D, and is filing this schedule because of Rule 13d-1(e), 13d-1(f), or 13d-1(g), check the following box: $|_|$.

SCHEDULE 13D

CUSIP No. 891013104

 NAME OF REPORTING PERSON
 S.S. OR I.R.S. IDENTIFICATION NO. OF ABOVE PERSON Barington Companies Equity Partners, L.P.

13-4088890

2)	CHECK THE A	PPROPRIATE B	OX IF A M	EMBER OF	A GROUE	0	(a)	[x]
							(b)	_
3)	SEC USE ONL	Y	<u> </u>				<u> </u>	<u> </u>
4)	SOURCE OF F	UNDS	WC				<u> </u>	<u> </u>
5) ITEMS	CHECK BOX I 2(d) OR 2(e	F DISCLOSURE	OF LEGAL	PROCEEDI	INGS IS	REQUIR	ED PU	IRSUANT TO
6)	CITIZENSHIP	OR PLACE OF Delaware	ORGANIZA	TION				
NUMBEI SHARE:		7)		ING POWEF ,200	2			
	ICIALLY	8)	SHARED V no	OTING POW ne	VER			
REPOR PERSOI WITH		9)		POSITIVE ,200	POWER			
		10)	SHARED D no	ISPOSITIV ne	/E POWEF	٤		
11)	AGGREGATE A	MOUNT BENEFI		NED BY EA ,200	ACH REPC	ORTING	PERSC	DN
12)	CHECK BOX I	F THE AGGREG	ATE AMOUN	T IN ROW	(11) E>	CLUDES	CERI	AIN SHARES
13)	PERCENT OF	CLASS REPRES		AMOUNT IN 12%	J ROW (1	1)		
14)	TYPE OF REP	ORTING PERSO	'N PN					
CUSTR	No. 8910131	0.4	SCHE	DULE 13D				
1)	S.S. OR I.R	ORTING PERSO S. IDENTIFI gton Compani	CATION NO		/E PERSC	DN		13-412652
2)	CHECK THE A	PPROPRIATE B	OX IF A M	EMBER OF	A GROUE	>	(a)	[x]

(b) |_|

3)	SEC USE ONLY		
4)	SOURCE OF FUNDS	00	
5) ITEMS	CHECK BOX IF DISCLOSURE OF 5 2(d) OR 2(e)	F LEGAL PROCEEDINGS I	S REQUIRED PURSUANT TO

2

6) CITI	ZENSHIP	OR PLACE (Delaware	OF ORGANIZATION		
NUMBER OF SHARES		7)	SOLE VOTING POWER 96,200		
BENEFICIAL OWNED BY EACH	LY	8)	SHARED VOTING POWER none		
REPORTING PERSON WITH		9)	SOLE DISPOSITIVE POWER 96,200		
VV 1 1 1 1		10)	SHARED DISPOSITIVE POWER none		
11) AGGR	EGATE AM	IOUNT BENEI	FICIALLY OWNED BY EACH REPO 96,200	RTING PERS	ON
12) CHEC	K BOX IF	' THE AGGRE	EGATE AMOUNT IN ROW (11) EX	CLUDES CER	TAIN SHARES
13) PERC	ENT OF C	LASS REPRE	ESENTED BY AMOUNT IN ROW (1 1.12%	1)	
14) TYPE	OF REPC	RTING PERS	SON		
CUSIP No.	89101310	4	SCHEDULE 13D		
1) NAME	OF REPO OR I.R.	PRTING PERS	SCHEDULE 13D		
S.S.	OF REPC OR I.R. Baring	PRTING PERS S. IDENTIH ton Compar	SCHEDULE 13D SON FICATION NO. OF ABOVE PERSO	VI)	[x]
1) NAME S.S.	OF REPC OR I.R. Baring	PRTING PERS S. IDENTIH ton Compar	SCHEDULE 13D SON FICATION NO. OF ABOVE PERSO nies Offshore Fund, Ltd. (B	VI)	[x]
1) NAME S.S. 2) CHEC	OF REPC OR I.R. Baring	PROPRIATE	SCHEDULE 13D SON FICATION NO. OF ABOVE PERSO nies Offshore Fund, Ltd. (B	WI) (a)	
1) NAME S.S. 2) CHEC	OF REPC OR I.R. Baring K THE AF	PROPRIATE	SCHEDULE 13D SON FICATION NO. OF ABOVE PERSO nies Offshore Fund, Ltd. (B	WI) (a)	
1) NAME S.S. 2) CHEC 3) SEC 4) SOUR 5) CHEC	OF REPC OR I.R. Baring K THE AF USE ONLY CE OF FU	PROPRIATE	SCHEDULE 13D SON FICATION NO. OF ABOVE PERSO nies Offshore Fund, Ltd. (B BOX IF A MEMBER OF A GROUP	(a) (b)	1_1
1) NAME S.S. 2) CHEC 3) SEC 4) SOUR 5) CHEC ITEMS 2 (d)	OF REPC OR I.R. Baring K THE AF USE ONLY CE OF FU K BOX IF OR 2(e) ZENSHIP	PROPRIATE	SCHEDULE 13D SON FICATION NO. OF ABOVE PERSO nies Offshore Fund, Ltd. (B BOX IF A MEMBER OF A GROUP WC	(a) (b)	I_I URSUANT TO
1) NAME S.S. 2) CHEC 3) SEC 4) SOUR 5) CHEC ITEMS 2 (d) 6) CITI NUMBER OF	OF REPC OR I.R. Baring K THE AF USE ONLY CE OF FU K BOX IF OR 2(e) ZENSHIP	PROPRIATE	SCHEDULE 13D SON FICATION NO. OF ABOVE PERSO nies Offshore Fund, Ltd. (B BOX IF A MEMBER OF A GROUP WC RE OF LEGAL PROCEEDINGS IS	(a) (b)	I_I URSUANT TO
1) NAME S.S. 2) CHEC 3) SEC 4) SOUR 5) CHEC ITEMS 2 (d)	OF REPC OR I.R. Baring K THE AF USE ONLY CE OF FU K BOX IF OR 2(e) ZENSHIP	PROPRIATE PROPRIATE DISCLOSUE OR PLACE (British V:	SCHEDULE 13D SON FICATION NO. OF ABOVE PERSO nies Offshore Fund, Ltd. (B BOX IF A MEMBER OF A GROUP WC RE OF LEGAL PROCEEDINGS IS OF ORGANIZATION irgin Islands SOLE VOTING POWER	(a) (b)	I_I URSUANT TO

WITH							
		10)	SHARED DI	SPOSITIVE POW e	ER		
11)	AGGREGATE AM	OUNT BENEFI	CIALLY OWN 72,	ED BY EACH RE 150	PORTING PE	RSON	
12)	CHECK BOX IF	' THE AGGREG	ATE AMOUNT	IN ROW (11)	EXCLUDES C	ERTAIN	SHARES
13)	PERCENT OF C	LASS REPRES	ENTED BY A 0.8	MOUNT IN ROW 4%	(11)		
14)	TYPE OF REPO	RTING PERSO	СО				
CULCED	No. 89101310	14	SCHED	ULE 13D			
	NO. 89101310						
1)			CATION NO.	OF ABOVE PER	SON		20-2871525
2)	CHECK THE AP	PROPRIATE BO	DX IF A ME	MBER OF A GRO	UP (a) [x]	
					(b) _	
3)	SEC USE ONLY	7					
4)	SOURCE OF FU	INDS	WC				
5) ITEMS	CHECK BOX IF 2(d) OR 2(e)		OF LEGAL	PROCEEDINGS I	S REQUIRED	pursua _	NT TO
6)	CITIZENSHIP	OR PLACE OF Delaware	ORGANIZAT	ION			
NUMBEI		7)	SOLE VOTI: 72,				
	ICIALLY	8)	SHARED VO	IING POWER e			
REPORT PERSON		9)	SOLE DISP 72,	OSITIVE POWER 150			
		10)	SHARED DI	SPOSITIVE POW e	ER		
11)	AGGREGATE AM	IOUNT BENEFI	CIALLY OWN 72,	ED BY EACH RE 150	PORTING PE	RSON	
12)	CHECK BOX IF	' THE AGGREG	ATE AMOUNT	IN ROW (11)	EXCLUDES C	ERTAIN	SHARES
13)	PERCENT OF C	LASS REPRESI	ENTED BY A	MOUNT IN ROW 4%	(11)		

14)	TYPE OF REPO	RTING PERSC)n PN		
			SCHEDULE 13D		
CUSIP	No. 89101310	4			
1)		S. IDENTIFI	DN ICATION NO. OF ABOVE PERSON ies Advisors, LLC		20-0327470
2)	CHECK THE AP	PROPRIATE B	BOX IF A MEMBER OF A GROUP	(a)	[x]
				(b)	_
3)	SEC USE ONLY				
4)	SOURCE OF FU	NDS	00		
5) ITEMS	CHECK BOX IF 2(d) OR 2(e)	DISCLOSURE	E OF LEGAL PROCEEDINGS IS REQ)UIRED PU	URSUANT TO
ITEMS	2(d) OR 2(e) CITIZENSHIP		E OF LEGAL PROCEEDINGS IS REQ	QUIRED PO	
TEMS	2(d) OR 2(e) CITIZENSHIP R OF	OR PLACE OF		QUIRED PO	
6) NUMBE SHARE BENEF DWNED	2 (d) OR 2 (e) CITIZENSHIP	OR PLACE OF Delaware	F ORGANIZATION SOLE VOTING POWER	QUIRED PO	
I TEMS	CITIZENSHIP CITIZENSHIP R OF S ICIALLY BY	OR PLACE OF Delaware 7)	F ORGANIZATION SOLE VOTING POWER 144,300 SHARED VOTING POWER	QUIRED PO	
I TEMS	CITIZENSHIP CITIZENSHIP R OF S ICIALLY BY	OR PLACE OF Delaware 7) 8)	F ORGANIZATION SOLE VOTING POWER 144,300 SHARED VOTING POWER none SOLE DISPOSITIVE POWER	QUIRED PO	
ITEMS 6) NUMBE SHARE BENEF DWNED EACH REPOR PERSC WITH	2 (d) OR 2 (e) CITIZENSHIP R OF S ICIALLY BY TING	OR PLACE OF Delaware 7) 8) 9) 10)	F ORGANIZATION SOLE VOTING POWER 144,300 SHARED VOTING POWER none SOLE DISPOSITIVE POWER 144,300 SHARED DISPOSITIVE POWER		
ITEMS 6) NUMBE SHARE BENEF OWNED EACH REPOR PERSC WITH 11)	2 (d) OR 2 (e) CITIZENSHIP R OF S ICIALLY BY TING N AGGREGATE AM	OR PLACE OF Delaware 7) 8) 9) 10) OUNT BENEFI	F ORGANIZATION SOLE VOTING POWER 144,300 SHARED VOTING POWER none SOLE DISPOSITIVE POWER 144,300 SHARED DISPOSITIVE POWER none	NG PERS	I_I
I TEMS 6) NUMBE SHARE BENEF DWNED EACH REPOR	2 (d) OR 2 (e) CITIZENSHIP R OF S ICIALLY BY TING N AGGREGATE AM CHECK BOX IF	OR PLACE OF Delaware 7) 8) 9) 10) OUNT BENEFI THE AGGREG	F ORGANIZATION SOLE VOTING POWER 144,300 SHARED VOTING POWER none SOLE DISPOSITIVE POWER 144,300 SHARED DISPOSITIVE POWER none ICIALLY OWNED BY EACH REPORTI 144,300	NG PERS	I_I

SCHEDULE 13D

1)	NAME OF REPORTING PERSON		
- /	S.S. OR I.R.S. IDENTIFICATION NO. OF ABOVE PERSON Barington Capital Group, L.P.		13-3635132
2)	CHECK THE APPROPRIATE BOX IF A MEMBER OF A GROUP	(a)	[x]
		(b)	1_1
3)	SEC USE ONLY		
4)	SOURCE OF FUNDS OO		
5) ITEMS	CHECK BOX IF DISCLOSURE OF LEGAL PROCEEDINGS IS R 2(d) OR 2(e)	EQUIRED PU	IRSUANT TO
6)	CITIZENSHIP OR PLACE OF ORGANIZATION New York		
NUMBEI			
	ICIALLY 8) SHARED VOTING POWER		
REPOR PERSON WITH			
W ± ± 11	10) SHARED DISPOSITIVE POWER none		
11)	AGGREGATE AMOUNT BENEFICIALLY OWNED BY EACH REPOR 240,500	TING PERSC	DN
12)	CHECK BOX IF THE AGGREGATE AMOUNT IN ROW (11) EXC	LUDES CERI	AIN SHARES
13)	PERCENT OF CLASS REPRESENTED BY AMOUNT IN ROW (11 2.8%)	
14)	TYPE OF REPORTING PERSON PN		
	SCHEDULE 13D		
CUSIP	No. 891013104		
1)	NAME OF REPORTING PERSON S.S. OR I.R.S. IDENTIFICATION NO. OF ABOVE PERSON LNA Capital Corp.		13-3635168
2)	CHECK THE APPROPRIATE BOX IF A MEMBER OF A GROUP	(a)	[x]
		(b)	_
3)	SEC USE ONLY		

		FUNDS	00	
5) ITEMS	CHECK BOX 2(d) OR 2(RE OF LEGAL PROCEEDINGS IS REG	QUIRED PURSUANT TO
6)	CITIZENSHI	P OR PLACE C Delaware	OF ORGANIZATION	
		7)	SOLE VOTING POWER	
NUMBEI			240,500	
SHARES	5 ICIALLY	8)	SHARED VOTING POWER	
OWNED		0,	none	
EACH				
REPOR		9)	SOLE DISPOSITIVE POWER	
PERSON WITH	N		240,500	
		10)	SHARED DISPOSITIVE POWER	
			none	
11)	AGGREGATE	AMOUNT BENEF	CICIALLY OWNED BY EACH REPORT 240,500	ING PERSON
12)	CHECK BOX	IF THE AGGRE	GATE AMOUNT IN ROW (11) EXCL	UDES CERTAIN SHARES
13)	PERCENT OF	CLASS REPRE	CSENTED BY AMOUNT IN ROW (11) 2.8%	
14)	TYPE OF RE	PORTING PERS	SON	
,			СО	
CUSIP	No. 891013	104	SCHEDULE 13D	
CUSIP	No. 891013	104		
	NAME OF RE S.S. OR I.	 PORTING PERS	SCHEDULE 13D SON TICATION NO. OF ABOVE PERSON	
1)	NAME OF RE S.S. OR I. Jame	 PORTING PERS R.S. IDENTIF s Mitarotond	SCHEDULE 13D SON TICATION NO. OF ABOVE PERSON	(a) [x]
1)	NAME OF RE S.S. OR I. Jame	 PORTING PERS R.S. IDENTIF s Mitarotond	SCHEDULE 13D SON TICATION NO. OF ABOVE PERSON A	
1)	NAME OF RE S.S. OR I. Jame	 PORTING PERS R.S. IDENTIF s Mitarotond	SCHEDULE 13D SON TICATION NO. OF ABOVE PERSON A	(a) [x] (b) _
1) 2)	NAME OF RE S.S. OR I. Jame	 PORTING PERS R.S. IDENTIF s Mitarotond APPROPRIATE	SCHEDULE 13D SON TICATION NO. OF ABOVE PERSON A	
1) 2) 3)	NAME OF RE S.S. OR I. Jame CHECK THE	 PORTING PERS R.S. IDENTIF s Mitarotond APPROPRIATE LY	SCHEDULE 13D SON TICATION NO. OF ABOVE PERSON A	
1) 2) 3) 4) 5)	NAME OF RE S.S. OR I. Jame CHECK THE SEC USE ON SOURCE OF	 PORTING PERS R.S. IDENTIF s Mitarotond APPROPRIATE LY FUNDS IF DISCLOSUR	SCHEDULE 13D SON TICATION NO. OF ABOVE PERSON da BOX IF A MEMBER OF A GROUP	(b) _
1) 2) 3) 4) 5)	NAME OF RE S.S. OR I. Jame CHECK THE SEC USE ON SOURCE OF CHECK BOX 2 (d) OR 2 (PORTING PERS R.S. IDENTIF s Mitarotond APPROPRIATE LY FUNDS IF DISCLOSUR e)	SCHEDULE 13D SON TICATION NO. OF ABOVE PERSON da BOX IF A MEMBER OF A GROUP OO RE OF LEGAL PROCEEDINGS IS REA OF ORGANIZATION	(b) _ QUIRED PURSUANT TO

Ed	dgar Filing: B	ARINGTON C	OMPANIES EQUITY PARTN	ERS L P	- Form SC 13D/A
OWNED	ICIALLY BY	8)	SHARED VOTING POWER none		
EACH REPOR PERSOI WITH		9)	SOLE DISPOSITIVE POWER 240,500		
WIII		10)	SHARED DISPOSITIVE POWER none		
11)	AGGREGATE AI	MOUNT BENEFIC	CIALLY OWNED BY EACH REPORT 240,500	ING PERSC	DN
12)	CHECK BOX I	F THE AGGREGA	ATE AMOUNT IN ROW (11) EXCLU	UDES CERI	CAIN SHARES
13)	PERCENT OF	CLASS REPRESI	ENTED BY AMOUNT IN ROW (11) 2.8%		
14)	TYPE OF REP	ORTING PERSON	N		
			IN		
CUSIP 	S.S. OR I.R	 DRTING PERSON	SCHEDULE 13D N CATION NO. OF ABOVE PERSON , A Limited Partnership		06-0944931
2)	CHECK THE A	PROPRIATE B	OX IF A MEMBER OF A GROUP	(a)	[x]
				(b)	_
3)	SEC USE ONL	Y			
4)	SOURCE OF F	UNDS	WC		
5) ITEMS	CHECK BOX II 2(d) OR 2(e		OF LEGAL PROCEEDINGS IS REQ	QUIRED PU	IRSUANT TO
6)	CITIZENSHIP	OR PLACE OF New Jersey	ORGANIZATION		
NUMBEI SHARE:		7)	SOLE VOTING POWER 243,100		
	ICIALLY	8)	SHARED VOTING POWER none		
REPOR PERSOI WITH		9)	SOLE DISPOSITIVE POWER 243,100		
		10)	SHARED DISPOSITIVE POWER none		

11) AGGREGATE AMOUNT BENEFICIALLY OWNED BY EACH REPORTING PERSON

				243,100			
12)	CHECK BOX IF	' THE AGGRE	GATE AMO	OUNT IN ROW	(11) EXC	LUDES CERI	CAIN SHARES
13)	PERCENT OF C	LASS REPRE	SENTED E	BY AMOUNT II 2.83%	N ROW (11))	
14)	TYPE OF REPC	RTING PERS	ON	PN,BD			
CUSIP	⁹ No. 89101310	04	sc	CHEDULE 13D			
1)	NAME OF REPO S.S. OR I.R. Alpine		ICATION	NO. OF ABO	VE PERSON		22-3528110
2)	CHECK THE AF	PROPRIATE	BOX IF A	A MEMBER OF	A GROUP	(a)	[x]
3)	SEC USE ONLY	,				(b)	_
4)	SOURCE OF FU	INDS		WC			
	CHECK BOX IF 2(d) OR 2(e)		E OF LEG	GAL PROCEED	INGS IS RI	EQUIRED PU	IRSUANT TO
6)	CITIZENSHIP	OR PLACE O		IZATION			
NUMBE		7)	SOLE V	VOTING POWE 33,100	R		
BENEF OWNED	ICIALLY	8)	SHAREI	D VOTING PO none	WER		
EACH REPOR PERSO WITH		9)	SOLE I	DISPOSITIVE 33,100	POWER		
		10)	SHAREI	DISPOSITI none	VE POWER		
11)	AGGREGATE AM	IOUNT BENEF	ICIALLY	OWNED BY E2 33,100	ACH REPOR	TING PERSC	DN
12)	CHECK BOX IF	' THE AGGRE	GATE AMO	DUNT IN ROW	(11) EXC	LUDES CERI	AIN SHARES
13)	PERCENT OF C	LASS REPRE	SENTED E	BY AMOUNT II 0.38%	N ROW (11))	
14)	TYPE OF REPO	NTING PERS	ON	PN,BD			

			SCHE	DULE 13D			
CUSIP	No. 89101310) 4					
1)			CATION NO	. OF ABOVE PI	ERSON		20-1476614
2)	CHECK THE AP	PROPRIATE E	BOX IF A M	EMBER OF A G	ROUP	(a)	[x]
						(b)	_
3)	SEC USE ONLY	7					
4)	SOURCE OF FU	INDS	WC				
5) ITEMS	CHECK BOX IF 2(d) OR 2(e)		OF LEGAL	PROCEEDINGS	IS REQUI	RED PU	JRSUANT TO
6)	CITIZENSHIP	OR PLACE OF New Jersey	' ORGANIZA	TION			
NUMBE		7)		ING POWER ,500			
BENEF OWNED EACH	ICIALLY BY	8)	SHARED V no	OTING POWER ne			
REPOR PERSO WITH	-	9)		POSITIVE POW ,500	ER		
W ± ± 11		10)	SHARED D no	ISPOSITIVE P ne	OWER		
11)	AGGREGATE AM	IOUNT BENEFI		NED BY EACH 1 ,500	REPORTING	PERSC	DN
12)	CHECK BOX IF	THE AGGREG	ATE AMOUN	I IN ROW (11) EXCLUDE:	S CERI	CAIN SHARES
13)	PERCENT OF C	LASS REPRES	ENTED BY 0.		W (11)		
14)	TYPE OF REPC	RTING PERSC)N PN				

CUSIP No. 891013104

SCHEDULE 13D

1) NAME OF REPORTING PERSON

Ec		ARINGTON (SLP	- Form SC 13
		ades Partner			1001		13-3456480
2)	CHECK THE A	PPROPRIATE E	OX IF A MEM	BER OF A GR	OUP	(a)	[x]
						(b)	_
3)	SEC USE ONL	Y					
4)	SOURCE OF F	UNDS	WC				
5) ITEMS	CHECK BOX I 2(d) OR 2(e	F DISCLOSURE)	OF LEGAL P	ROCEEDINGS	IS REQUI	RED PI	JRSUANT TO
6)	CITIZENSHIP	OR PLACE OF Delaware	ORGANIZATI	ON			
NUMBEI		7)	SOLE VOTIN 11,0				
	ICIALLY	8)	SHARED VOT none				
REPORI PERSON		9)	SOLE DISPC	SITIVE POWE 00	R		
		10)	SHARED DIS none	POSITIVE PC	WER		
11)	AGGREGATE A	MOUNT BENEFI	CIALLY OWNE 11,0		EPORTING	PERSO	N
12)	CHECK BOX I	F THE AGGREG	ATE AMOUNT	IN ROW (11)	EXCLUDE	S CER	TAIN SHARES
13)	PERCENT OF	CLASS REPRES	ENTED BY AM 0.13		(11)		
14)	TYPE OF REP	ORTING PERSC	N PN				
				100			
CUSIP	No. 8910131	04	SCHEDU	LE 13D			
1)	S.S. OR I.R	ORTING PERSC .S. IDENTIFI t Corporatic	CATION NO.	OF ABOVE PE	RSON		22-2548436
2)	CHECK THE A	PPROPRIATE E	OX IF A MEM	BER OF A GR	OUP	(a)	[x]
						(b)	_
3)	SEC USE ONL	Y			<u> </u>		
4)	SOURCE OF F		00				

11

CHECK BOX IF DISCLOSURE OF LEGAL PROCEEDINGS IS REQUIRED PURSUANT TO 5) ITEMS 2(d) OR 2(e) |_|

6)		OR PLACE OF ORGANIZATION Delaware	
	D 00	7) SOLE VOTING POWER	
NUMBE SHARE		276,200	
	ICIALLY	8) SHARED VOTING POWER	
OWNED		17,500	
EACH	DI	17,500	
REPOR	TING	9) SOLE DISPOSITIVE POW	F.B
PERSO		276,200	
VITH		_ · · · · · · ·	
		10) SHARED DISPOSITIVE P	OWER
		17,500	
11)	AGGREGATE AM	OUNT BENEFICIALLY OWNED BY EACH	REPORTING PERSON
		293,700	
12)	CHECK BOX IF	THE AGGREGATE AMOUNT IN ROW (11) EXCLUDES CERTAIN SHARES
13)	PERCENT OF C	LASS REPRESENTED BY AMOUNT IN RO	W (11)
1)	LENCENI UP C	LASS REPRESENTED BI AMOUNT IN ROU 3.42%	vv \⊥⊥/
		J • 12 0	
14)	TYPE OF REPC	RTING PERSON	
		СО	
CUSIP	No. 89101310	SCHEDULE 13D -	
	NAME OF REPC S.S. OR I.R.	4	ERSON
1)	NAME OF REPC S.S. OR I.R. Victor	4 - RTING PERSON S. IDENTIFICATION NO. OF ABOVE PI	
L)	NAME OF REPC S.S. OR I.R. Victor	4 - RTING PERSON S. IDENTIFICATION NO. OF ABOVE P ia Eckert	
1) 2)	NAME OF REPC S.S. OR I.R. Victor CHECK THE AP	4 - RTING PERSON S. IDENTIFICATION NO. OF ABOVE P ia Eckert PROPRIATE BOX IF A MEMBER OF A G	ROUP (a) [x]
1) 2)	NAME OF REPC S.S. OR I.R. Victor	4 - RTING PERSON S. IDENTIFICATION NO. OF ABOVE P ia Eckert PROPRIATE BOX IF A MEMBER OF A G	ROUP (a) [x]
CUSIP 1) 2) 3) 4)	NAME OF REPC S.S. OR I.R. Victor CHECK THE AP	4 - RTING PERSON S. IDENTIFICATION NO. OF ABOVE P ia Eckert PROPRIATE BOX IF A MEMBER OF A G	ROUP (a) [x]
1) 2) 3) 4) 5)	NAME OF REPC S.S. OR I.R. Victor CHECK THE AP SEC USE ONLY SOURCE OF FU	4 - RTING PERSON S. IDENTIFICATION NO. OF ABOVE P ia Eckert PROPRIATE BOX IF A MEMBER OF A G	ROUP (a) [x] (b) _
2) 3) 4) 5) [TEMS	NAME OF REPC S.S. OR I.R. Victor CHECK THE AP SEC USE ONLY SOURCE OF FU CHECK BOX IF 2(d) OR 2(e)	4 - RTING PERSON S. IDENTIFICATION NO. OF ABOVE PI ia Eckert PROPRIATE BOX IF A MEMBER OF A GI NDS 00	ROUP (a) [x] (b) _ IS REQUIRED PURSUANT TO
1) 2) 3) 4) 5) ITEMS	NAME OF REPC S.S. OR I.R. Victor CHECK THE AP SEC USE ONLY SOURCE OF FU CHECK BOX IF 2 (d) OR 2 (e) CITIZENSHIP	4 - RTING PERSON S. IDENTIFICATION NO. OF ABOVE PI ia Eckert PROPRIATE BOX IF A MEMBER OF A GI NDS 00 DISCLOSURE OF LEGAL PROCEEDINGS	ROUP (a) [x] (b) _ IS REQUIRED PURSUANT TO
1) 2) 3) 4) 5) ITEMS	NAME OF REPC S.S. OR I.R. Victor CHECK THE AP SEC USE ONLY SOURCE OF FU CHECK BOX IF 2 (d) OR 2 (e) CITIZENSHIP	4 - RTING PERSON S. IDENTIFICATION NO. OF ABOVE PI ia Eckert PROPRIATE BOX IF A MEMBER OF A GI NDS OO DISCLOSURE OF LEGAL PROCEEDINGS OR PLACE OF ORGANIZATION	ROUP (a) [x] (b) _ IS REQUIRED PURSUANT TO
L) 2) 3) 4) 5) ETEMS 5)	NAME OF REPC S.S. OR I.R. Victor CHECK THE AP SEC USE ONLY SOURCE OF FU CHECK BOX IF 2 (d) OR 2 (e) CITIZENSHIP	4 - RTING PERSON S. IDENTIFICATION NO. OF ABOVE PI ia Eckert PROPRIATE BOX IF A MEMBER OF A GI NDS OO DISCLOSURE OF LEGAL PROCEEDINGS OR PLACE OF ORGANIZATION United States 7) SOLE VOTING POWER	ROUP (a) [x] (b) _ IS REQUIRED PURSUANT TO
1) 2) 3) 4) 5) 1TEMS 6)	NAME OF REPC S.S. OR I.R. Victor CHECK THE AP SEC USE ONLY SOURCE OF FU CHECK BOX IF 2(d) OR 2(e) CITIZENSHIP R OF	4 - RTING PERSON S. IDENTIFICATION NO. OF ABOVE PI ia Eckert PROPRIATE BOX IF A MEMBER OF A GI NDS OO DISCLOSURE OF LEGAL PROCEEDINGS OR PLACE OF ORGANIZATION United States	ROUP (a) [x] (b) _ IS REQUIRED PURSUANT TO
1) 2) 3) 4) 5) ITEMS 6) NUMBE SHARE	NAME OF REPC S.S. OR I.R. Victor CHECK THE AP SEC USE ONLY SOURCE OF FU CHECK BOX IF 2(d) OR 2(e) CITIZENSHIP R OF	4 - RTING PERSON S. IDENTIFICATION NO. OF ABOVE PI ia Eckert PROPRIATE BOX IF A MEMBER OF A GI NDS OO DISCLOSURE OF LEGAL PROCEEDINGS OR PLACE OF ORGANIZATION United States 7) SOLE VOTING POWER	ROUP (a) [x] (b) _ IS REQUIRED PURSUANT TO

EACH							
REPORI PERSON WITH		9)	SOLE DISPOSITIVE PO 276,200	JWER			
		10)	SHARED DISPOSITIVE 17,500	POWER			
L1)	AGGREGATE AM	IOUNT BENEFI	ICIALLY OWNED BY EAC 293,700	H REPORTING PERSON			
12)	CHECK BOX IF	' THE AGGREG	GATE AMOUNT IN ROW ()	11) EXCLUDES CERTAIN			
13)	PERCENT OF C	LASS REPRES	SENTED BY AMOUNT IN 1 3.42%	ROW (11)			
14)	TYPE OF REPC	RTING PERSC	DN IN				
			SCHEDULE 13D				
CUSIP	No. 89101310)4	SCHEDULE ISD				
1)	NAME OF REPORTING PERSON S.S. OR I.R.S. IDENTIFICATION NO. OF ABOVE PERSON Gordon A. Uehling, Jr.						
2)	CHECK THE AP	PROPRIATE E	BOX IF A MEMBER OF A	GROUP (a) [x	:]		
				(b) _	_		
3)	SEC USE ONLY	7					
4)	SOURCE OF FU	JNDS	00				
5) ITEMS	CHECK BOX IF 2(d) OR 2(e)		E OF LEGAL PROCEEDING	GS IS REQUIRED PURSU			
6)		OR PLACE OF United Stat	F ORGANIZATION tes				
NUMBEF		7)	SOLE VOTING POWER none				
	CIALLY	8)	SHARED VOTING POWER 11,000	2			
REPORI PERSON WITH		9)	SOLE DISPOSITIVE PO none	JWER			
		10)	SHARED DISPOSITIVE 11,000	POWER			
11)	AGGREGATE AM	10UNT BENEFI	ICIALLY OWNED BY EACH 11,000	H REPORTING PERSON			

Ec	lgar Filing: I	BARINGTON	COMPANI	ES EQUITY F	PARTNERS	SLP-	- Form SC 13	
12)	CHECK BOX	IF THE AGGRE	GATE AMOUN	T IN ROW (11	.) EXCLUDES	CERI	CAIN SHARES	
13)	PERCENT OF	CLASS REPRES		AMOUNT IN RC 13%	W (11)			
14)	TYPE OF RE	EPORTING PERS	NC IN					
			SCHE	DULE 13D				
CUSIP	No. 891013	3104						
1)	NAME OF REPORTING PERSON S.S. OR I.R.S. IDENTIFICATION NO. OF ABOVE PERSON Arbitrage & Trading Management Company							
2)	CHECK THE	APPROPRIATE I	BOX IF A M	EMBER OF A G	ROUP	(a)	[x]	
						(b)	_	
3)	SEC USE ON	ILY						
1)	SOURCE OF	FUNDS	00					
5) ITEMS	CHECK BOX 2(d) OR 2(IF DISCLOSURI (e)	E OF LEGAL	PROCEEDINGS	IS REQUIR	ED PU	JRSUANT TO	
5)	CITIZENSHI	IP OR PLACE OF New Jersey	F ORGANIZA	TION				
NUMBEF		7)		ING POWER				
	ICIALLY	8)		OTING POWER				
REPORI PERSON VITH		9)		POSITIVE POW	IER			
		10)	-	ISPOSITIVE P ,500	OWER			
11)	AGGREGATE AMOUNT BENEFICIALLY OWNED BY EACH REPORTING PERSON 28,500							
12)	CHECK BOX	IF THE AGGRE	GATE AMOUN	T IN ROW (11) EXCLUDES	CERI	CAIN SHARES	
13)	PERCENT OF CLASS REPRESENTED BY AMOUNT IN ROW (11) 0.33%							
14)	TYPE OF RE	EPORTING PERS	NC OO	,				

			SCH	EDULE 13D			
CUSIP	No. 89101310	4					
		-					
1)	NAME OF REPORTING PERSON S.S. OR I.R.S. IDENTIFICATION NO. OF ABOVE PERSON Robert E. Zoellner						
2)	CHECK THE AP	PROPRIATE B	OX IF A 1	MEMBER OF A GR	OUP	(a)	[x]
						(b)	_
3)	SEC USE ONLY						
4)	SOURCE OF FU	NDS	0	C			
5) ITEMS	CHECK BOX IF 2(d) OR 2(e)	DISCLOSURE	OF LEGA	L PROCEEDINGS	IS REQUIE	RED PU	RSUANT TO
6)	CITIZENSHIP	OR PLACE OF United Stat		ATION			
		7)	SOLE VO	FING POWER			
NUMBEI	R OF		n	one			
SHARES	S .						
BENEF	ICIALLY	8)	-	VOTING POWER			
OWNED	BY		2	8,500			
EACH							
REPORT PERSON	-	9)		SPOSITIVE POWE	R		
WITH	N		11	one			
WIII		10)		DISPOSITIVE PC 8,500	WER		
11)	AGGREGATE AM	OUNT BENEFI		WNED BY EACH R 8,500	EPORTING	PERSO	N
12)	CHECK BOX IF THE AGGREGATE AMOUNT IN ROW (11) EXCLUDES CERTAIN SHARES $ _ $						
13)	PERCENT OF C	LASS REPRES		AMOUNT IN ROW .33%	(11)		
14)	TYPE OF REPO	RTING PERSO	N	N			

Item 1. Security and Issuer.

This Amendment No. 1 amends and supplements the Schedule 13D filed with the Securities and Exchange Commission (the "SEC") on November 25, 2005 (the "Statement") by and on behalf of Barington Companies Equity Partners, L.P. ("Barington") and others with respect to units of beneficial interest (the

"Units"), of Torch Energy Royalty Trust, a Delaware trust (the "Trust"). The principal executive offices of the Trust are located at Rodney Square North, 1100 North Market Street, Wilmington, Delaware 19890.

Item 2. Identity and Background.

The second paragraph of Item 2(a)-(c) of the Statement is hereby amended and restated as follows:

As of the date of this filing, the Reporting Entities are the beneficial owners of, in the aggregate, 545,200 Units, representing approximately 6.34% of the Units presently outstanding.

Item 3. Source and Amount of Funds or Other Consideration.

The information contained in Item 3 of the Statement is hereby amended and supplemented as follows:

Since the filing of the Statement, the Reporting Entities purchased an aggregate of 88,700 Units. The amount of funds expended for such purchases was approximately \$246,923.20 by Barington Companies Equity Partners, L.P., \$185,192.40 by Barington Companies Offshore Fund Ltd. (BVI) and \$185,192.40 by Barington Investments, L.P.

All purchases of Units by the Reporting Entities since the filing of the Statement were made in open market transactions. All transactions effected since the filing of the Statement are described in the Schedule attached hereto. All such purchases of Units were funded by working capital, which may, at any given time, include margin loans made by brokerage firms in the ordinary course of business.

Item 5. Interest in Securities of the Issuer.

Item 5(a) - (b) of the Statement is hereby amended and restated as follows:

(a) As of the date of this filing, Barington Companies Equity Partners, L.P. beneficially owns an aggregate of 96,200 Units, representing approximately 1.12% of the Units presently outstanding based upon the 8,600,000 Units reported by the Trust to be issued and outstanding as of September 30, 2005 in its Form 10-Q filed with the Securities and Exchange Commission on November 10, 2005 (the "Issued and Outstanding Units"). As the general partner of Barington Companies Equity Partners, L.P., Barington Companies Investors, LLC may be deemed to beneficially own the 96,200 Units owned by Barington Companies Equity Partners, L.P.

As of the date of this filing, Barington Companies Offshore Fund, Ltd. (BVI) beneficially owns 72,150 Units, constituting approximately 0.84% of the Issued and Outstanding Units. As of the date of this filing, Barington Investments, L.P. beneficially owns 72,150 Units. As the

investment advisor to Barington Companies Offshore Fund, Ltd. (BVI) and the general partner of Barington Investments, L.P., Barington Companies Advisors, LLC may be deemed to beneficially own the 72,150 Units owned by Barington Companies Offshore Fund, Ltd. (BVI) and the 72,150 Units owned by Barington Investments, L.P., representing an aggregate of 144,300 Units, constituting approximately 1.68% of the Issued and Outstanding Units. As the Managing Member

of Barington Companies Advisors, LLC, Barington Capital Group, L.P. may be deemed to beneficially own the 72,150 Units beneficially owned by Barington Investments, L.P. and the 72,150 Units owned by Barington Companies Offshore Fund, Ltd. (BVI). As the majority member of Barington Companies Investors, LLC, Barington Capital Group, L.P. may also be deemed to beneficially own the 96,200 Units owned by Barington Companies Equity Partners, L.P., representing an aggregate of 240,500 Units, constituting approximately 2.8% of the Issued and Outstanding Units. As the general partner of Barington Capital Group, L.P., LNA Capital Corp. may be deemed to beneficially own the 96,200 Units owned by Barington Companies Equity Partners, L.P., the 72,150 Units beneficially owned by Barington Investments, L.P. and the 72,150 Units owned by Barington Companies Offshore Fund, Ltd. (BVI), representing an aggregate of 240,500 Units, constituting approximately 2.8% of the Issued and Outstanding Units. As the sole stockholder and director of LNA Capital Corp., Mr. Mitarotonda may be deemed to beneficially own the 96,200 Units owned by Barington Companies Equity Partners, L.P., the 72,150 Units beneficially owned by Barington Investments, L.P. and the 72,150 Units owned by Barington Companies Offshore Fund, Ltd. (BVI), representing an aggregate of 240,500 Units, constituting approximately 2.8% of the Issued and Outstanding Units. Mr. Mitarotonda has sole voting and dispositive power with respect to the 96,200 Units owned by Barington Companies Equity Partners, L.P., the 72,150 Units beneficially owned by Barington Investments, L.P. and the 72,150 Units owned by Barington Companies Offshore Fund, Ltd. (BVI). Mr. Mitarotonda disclaims beneficial ownership of any such Units except to the extent of his pecuniary interest therein.

As of the date of this filing, Alpine Associates, A Limited Partnership beneficially owns 243,100 Units, representing approximately 2.83% of the Issued and Outstanding Units. As of the date of this filing, Alpine Partners, L.P. beneficially owns 33,100 Units, representing approximately 0.38% of the Issued and Outstanding Units. As of the date of this filing, Alpine Associates II, L.P. beneficially owns 17,500 Units, representing approximately 0.20% of the Issued and Outstanding Units. As of the date of this filing, Palisades Partners, L.P. beneficially owns approximately 11,000 Units, representing approximately 0.13% of the Issued and Outstanding Units. As the general partner of each of Alpine Associates, A Limited Partnership, Alpine Partners, L.P. and Alpine Associates II, L.P., Eckert Corporation may be deemed to beneficially own the 243,100 Units owned by Alpine Associates, A Limited Partnership, the 33,100 Units owned by Alpine Partners, L.P. and the 17,500 Units owned by Alpine Associates II, L.P., representing an aggregate of 293,700 Units, constituting approximately 3.42% of the Issued and Outstanding Units. As the sole stockholder and director of Eckert Corporation, Ms. Eckert may be deemed to beneficially own the 243,100 Units owned by Alpine Associates, A Limited Partnership, the 33,100 Units owned by Alpine Partners, L.P. and the 17,500 Units owned by Alpine Associates II, L.P., representing an aggregate of 293,700 Units, constituting approximately 3.42% of the Issued and Outstanding Units. As the general partner of Palisades Partners, L.P., Mr. Uehling may be deemed to beneficially own the 11,000 Units owned by Palisades Partners, L.P., representing approximately 0.13% of the Issued and Outstanding Units. Pursuant to investment advisory agreements with each of Alpine Associates II, L.P. and

Palisades Partners, L.P. further described in Item 5(b) below, Arbitrage & Trading Management Company may be deemed to beneficially own the 17,500 Units owned by Alpine Associates II, L.P. and the 11,000 Units owned by Palisades Partners, L.P., representing an aggregate of 28,500 Units, constituting approximately 0.33% of the Issued and Outstanding Units. As the owner and operator of Arbitrage & Trading Management Company, Mr. Zoellner may be deemed to beneficially own the 17,500 Units owned by Alpine Associates II, L.P. and the 11,000 Units owned by Palisades Partners, L.P., representing an aggregate of 28,500 Units, constituting approximately 0.33% of the Issued and Outstanding

Units. Eckert Corporation, Ms. Eckert, Mr. Uehling, Arbitrage & Trading Management Company and Mr. Zoellner disclaim beneficial ownership of any such Units except to the extent of their pecuniary interest therein.

(b) Each of the Reporting Entities may be deemed to have sole voting and dispositive power over the Units reported as beneficially owned by such person by virtue of their respective positions as described in paragraph (a), except as follows:

- (1) Pursuant to an investment advisory agreement between Alpine Associates II, L.P. and Arbitrage & Trading Management Company, Arbitrage & Trading Management Company acts as an investment advisor to Alpine Associates II, L.P. and has the discretion to manage its investment activities. As a result, the 17,500 Units owned by Alpine Associates II, L.P. that may be deemed to be beneficially owned by Eckert Corporation and Ms. Eckert may also be deemed to be beneficially owned by Arbitrage & Trading Management Company and Mr. Zoellner. Therefore, each of Eckert Corporation, Ms. Eckert, Arbitrage & Trading Management Company and Mr. Zoellner may be deemed to have shared voting and dispositive power with respect to such Units.
- (2) Pursuant to an investment advisory agreement between Palisades Partners, L.P. and Arbitrage & Trading Management Company, Arbitrage & Trading Management Company acts as an investment advisor to Palisades Partners, L.P. and has the discretion to manage its investment activities. As a result, the 11,000 Units owned by Palisades Partners, L.P. that may be deemed to be beneficially owned by Mr. Uehling may also be deemed to be beneficially owned by Arbitrage & Trading Management Company and Mr. Zoellner. Therefore, each of Mr. Uehling, Arbitrage & Trading Management Company and Mr. Zoellner may be deemed to have shared voting and dispositive power with respect to such Units.

Except as set forth above, each of the Reporting Entities may be deemed to have sole voting and dispositive power with respect to the Units each reports as beneficially owned by such person, regardless of the fact that multiple Reporting Entities within the same chain of ownership report sole voting and dispositive power with respect to such Units. Each such Reporting Entity reports sole voting and dispositive power with respect to such Units based on such person's relationship to the other Reporting Entities within the same chain of ownership. Except to the extent expressly stated herein, each Reporting Entity disclaims beneficial ownership of any Units beneficially owned by any other Reporting Entity.

The Reporting Entities do not believe that certain of the foregoing information is called for by the Items of Schedule 13D and are disclosing it for supplemental informational purposes only. Information with respect to each of the Reporting Entities is given solely by such Reporting Entity and no Reporting Entity shall have responsibility for the accuracy or completeness of information supplied by another Reporting Entity. SIGNATURES

After reasonable inquiry and to the best knowledge and belief of the undersigned, the undersigned certify that the information set forth in this Statement is true, complete and correct.

Dated: December 27, 2005

BARINGTON COMPANIES EQUITY PARTNERS, L.P. By: Barington Companies Investors, LLC, its general partner

By: /s/ James A. Mitarotonda

Name: James A. Mitarotonda Title: Managing Member

BARINGTON COMPANIES INVESTORS, LLC

By: /s/ James A. Mitarotonda

Name: James A. Mitarotonda Title: Managing Member

/s/ James A. Mitarotonda James A. Mitarotonda

BARINGTON COMPANIES OFFSHORE FUND, LTD. (BVI)

By: /s/ James A. Mitarotonda

Name: James A. Mitarotonda Title: Manager

BARINGTON INVESTMENTS, L.P. By: Barington Companies Advisors, LLC, its general partner

By: /s/ James A. Mitarotonda

Name: James A. Mitarotonda Title: Authorized Signatory

BARINGTON COMPANIES ADVISORS, LLC

By: /s/ James A. Mitarotonda

Name: James A. Mitarotonda Title: Authorized Signatory BARINGTON CAPITAL GROUP, L.P. By: LNA Capital Corp., its general partner By: /s/ James A. Mitarotonda _____ Name: James A. Mitarotonda Title: President and CEO LNA CAPITAL CORP. By: /s/ James A. Mitarotonda _____ Name: James A. Mitarotonda Title: President and CEO ALPINE ASSOCIATES, A LIMITED PARTNERSHIP By: Eckert Corporation, its general partner By: /s/ Todd Mason _____ Name: Todd Mason Title: Vice President ALPINE PARTNERS, L.P. By: Eckert Corporation, its general partner By: /s/ Todd Mason ------Name: Todd Mason Title: Vice President ALPINE ASSOCIATES II, L.P. By: Eckert Corporation, its general partner By: /s/ Todd Mason _____ Name: Todd Mason Title: Vice President PALISADES PARTNERS, L.P. By: /s/ Gordon A. Uehling, Jr. _____ Name: Gordon A. Uehling, Jr. Title: General Partner

ECKERT CORPORATION

By: /s/ Todd Mason

Name: Todd Mason Title: Vice President

/s/ Victoria Eckert

Victoria Eckert

/s/ Gordon A. Uehling, Jr.

Gordon A. Uehling, Jr.

ARBITRAGE & TRADING MANAGEMENT COMPANY

By: /s/ Robert E. Zoellner Name: Robert E. Zoellner

Title: President

/s/ Robert E. Zoellner Robert E. Zoellner

SCHEDULE

This schedule sets forth information with respect to each purchase of Units which was effectuated by a Reporting Entity since the filing of the Statement. All transactions were effectuated in the open market through a broker.

Units purchased by Barington Companies Equity Partners, L.P.

	Number of		
Date	Units	Price Per Unit	Cost(*)
 11/30/2005	480	\$6.890	\$3,307.20
12/1/2005	3,320	\$6.817	\$22,632.44
12/2/2005	440	\$6.859	\$3,017.96
12/6/2005	2,800	\$6.885	\$19,278.00
12/7/2005	680	\$6.900	\$4,692.00
12/12/2005	1,400	\$7.050	\$9,870.00
12/13/2005	3,440	\$7.039	\$24,214.16
12/14/2005	1,760	\$7.044	\$12,397.44
12/15/2005	1,520	\$7.050	\$10,716.00
12/16/2005	6,560	\$7.049	\$46,241.44
12/19/2005	5,600	\$6.972	\$39,043.20
12/21/2005	1,080	\$6.932	\$7,486.56
12/22/2005	2,800	\$6.927	\$19,395.60
12/23/2005	3,600	\$6.842	\$24,631.20

Units purchased by Barington Companies Offshore Fund, Ltd.

Number of

Date	Units	Price Per Unit	Cost(*)
11/30/2005	360	\$6.890	\$2,480.40
12/1/2005	2,490	\$6.817	\$16,974.33
12/2/2005	330	\$6.859	\$2,263.47
12/6/2005	2,100	\$6.885	\$14,458.50
12/7/2005	510	\$6.900	\$3,519.00

12/12/2005	1,050	\$7.050	\$7,402.50
12/13/2005	2,580	\$7.039	\$18,160.62
12/14/2005	1,320	\$7.044	\$9,298.08
12/15/2005	1,140	\$7.050	\$8,037.00
12/16/2005	4,920	\$7.049	\$34,681.08
12/19/2005	4,200	\$6.972	\$29,282.40
12/21/2005	810	\$6.932	\$5,614.92
12/22/2005	2,100	\$6.927	\$14,546.70
12/23/2005	2,700	\$6.842	\$18,473.40

Units purchased by Barington Investments, L.P.

Date	Number of Units	Price Per Unit	Cost(*)
 11/30/2005 12/1/2005 12/2/2005 12/6/2005 12/7/2005 12/12/2005 12/13/2005 12/14/2005 12/15/2005 12/15/2005 12/19/2005 12/21/2005 12/22/2005	360 2,490 330 2,100 510 1,050 2,580 1,320 1,140 4,920 4,200 810 2,100	\$6.890 \$6.817 \$6.859 \$6.885 \$6.900 \$7.050 \$7.039 \$7.044 \$7.050 \$7.049 \$6.972 \$6.932 \$6.927 \$6.927	\$2,480.40 \$16,974.33 \$2,263.47 \$14,458.50 \$3,519.00 \$7,402.50 \$18,160.62 \$9,298.08 \$8,037.00 \$34,681.08 \$29,282.40 \$5,614.92 \$14,546.70
12/23/2005	2,700	\$6.842	\$18,473.40

(*) Excludes commissions and other execution-related costs.